Lz’

_H— b

7E - REWE 2 :MI0~M30. 3/8~1"1/4
‘.%ﬁi EEjﬂ; Eé-*- ]00 900
o .
.%* ) 2 — 9 D 100 | 50 50
Ok - KJ (iBrldisAwvF) 125 | 50
° 150 | 50 50 50
@25V UR - it ol |
200 | 50 50 50 50 60
S ' 250 | 50 50 50 50 60 60
E y *E*g y ijg 300 | 60 60 60 60 60 70 70
350 60 60 60 60 70
400 70 70 70 70 80 80
450 70 70 70 70 80 80
: u¥ U?§ 500 70 70 70 80 80 80
/ 550 70 70 70 80 80
E '-FE é \ 600 80 80 80 100 | 100 | 100
\ 650 80 80 100 | 100 | 100
700 100 | 100 | 100 | 100 | 100
hUES 750 100 | 100 | 100 | 100
— = 800 100 | 100 | 100 | 100 | 100
QE 850 100 | 100 | 100
- 900 7100 | 100 | 100 | 100
35 40 50 60 75 85 105
M10x 100 S5LANC10-100 3LANC10-100 M20x 150 3LANC20-150
M10x 125 3LANC10-125 M20 x200 S5LANC20-200 7LANC20-200 3LANC20-200
M10x 150 5LANC10-150 3LANC10-150 M20x 250 5LANC20-250 7LANC20-250 3LANC20-250
M10x200( S5LANC10-200 3LANC10-200 M20 x 300 S5LANC20-300 7LANC20-300 3LANC20-300
M10x250| 5LANC10-250 3LANC10-250 M20 x 350 S5LANC20-350 7LANC20-350 3LANC20-350
M10x 300 5LANC10-300 3LANC10-300 M20 x 400 5LANC20-400 3LANC20-400
M12x 100 5LANC12-100 7LANC12-100 3LANC12-100 M20 x 450 5LANC20-450 7LANC20-450 3LANC20-450
M12x150 5LANC12-150 7LANC12-150 3LANC12-150 M20 x 500 S5LANC20-500 7LANC20-500 3LANC20-500
M12x 200 5LANC12-200 7LANC12-200 3LANC12-200 M20x 600 5LANC20-600 7LANC20-600 3LANC20-600
M12x250| 5LANC12-250 7LANC12-250 3LANC12-250 M20 x700 5LANC20-700 7LANC20-700
M12x300| 5LANC12-300 7LANC12-300 3LANC12-300 M22 x250 3LANC22-250
M12x 350 5LANC12-350 7LANC12-350 3LANC12-350 M22 x 300 7LANC22-300 3LANC22-300
M12x400| 5LANC12-400 7LANC12-400 3LANC12-400 M22 x 350 3LANC22-350
M12x450| 5LANC12-450 7LANC12-450 3LANC12-450 M22 x 400 7LANC22-400 3LANC22-400
M12x 500 5LANC12-500 7LANC12-500 3LANC12-500 M22 x 500 3LANC22-500
M12x600| 5LANC12-600 7LANC12-600 3LANC12-600 M22 x 600 5LANC22-600 7LANC22-600 3LANC22-600
M16 X100 3LANC16-100 M22 x700 S5LANC22-700 7LANC22-700 3LANC22-700
M16 X150 5LANC16-150 7LANC16-150 3LANC16-150 M22 x 800 3LANC22-800
M16x200| S5LANC16-200 7LANC16-200 3LANC16-200 M24 x 250 3LANC24-250
M16 X250 | 5LANC16-250 7LANC16-250 3LANC16-250 M24 x 300 S5LANC24-300 7LANC24-300 3LANC24-300
M16 X300 5LANC16-300 7LANC16-300 3LANC16-300 M24 x 350 7LANC24-350 3LANC24-350
M16 X350 | 5LANC16-350 7LANC16-350 3LANC16-350 M24 x 400 5LANC24-400 7LANC24-400 3LANC24-400
M16 X400| 5LANC16-400 7LANC16-400 3LANC16-400 M24 x 450 7LANC24-450 3LANC24-450
M16 X450 | 5LANC16-450 7LANC16-450 3LANC16-450 M24 x 500 S5LANC24-500 7LANC24-500 3LANC24-500
M16xX500| 5LANC16-500 7LANC16-500 3LANC16-500 M24 x 600 5LANC24-600 7LANC24-600 3LANC24-600
M16xX600| S5LANC16-600 7LANC16-600 3LANC16-600 M24 x700 S5LANC24-700 7LANC24-700 3LANC24-700
M16xX700| S5LANC16-700 7LANC16-700 M24 x 800 3LANC24-800

35?-‘](»\"1)1!'(3:5'

= ER?&T:H

-Frow I0I0Z> Ir

X1V M1 XS1YTYTRBELEDELEEL
oMY PYIRPER<SEEICRBIBENHDET

TOMITARASHI -
T146-0082 ﬁ?ﬁ%ﬂXEBESﬂLH-Z]%

LTD

\ 03-3754-6228

5 03-3755-2913
D info@tomitarashi.com




